Zadaci 3

(%11) f(x):=log(l+x+x"2);
(%01) f(x):=log<1—%x—kx2)

(%12) rl: taylor(f(x),x,0,2);
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(%13) r2: taylor(f(x),x,0,4);
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%1i4) wxplot2d([f(x),rl,r2],[x,-1,11);

(%15) f(x):=log(l+sin(x));
(%05) f(x):=log<1—%sin(x))
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(%i6) r: taylor(f(x),x,0,6);
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(%06)/T/ x
? %17) wxplot2d([f(x),r],[x,-%pi,%pi],[y,-10,5]);

plot2d: expression evaluates to non-numeric value somewhere in plotting range.
plot2d: some values were clipped.

plot2d: expression evaluates to non-numeric value somewhere in plotting range.
plot2d: some values were clipped.
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? (%18) f(x):=sqrt(x~2+1);
(%08) F(x):=4/x°+1

(%19) q: taylor(f(x),x,-3,5);
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7 110 wxplot2d ([(x),ql, [x,-7,11);
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_7 (%i11) r: taylor(log(x),x,1,5);
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7 (%i12) wxplot2d([log(x),r], [x,0,3]);

-plotZd: expression evaluates to non-numeric value somewhere in plotting range.

plot2d: expression evaluates to non-numeric value somewhere in plotting range.
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